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4. Prove by induction that, for n∈ +Z ,
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8. Prove by induction that, for n∈
+] ,

  (a) f(n) = 5n + 8n + 3 is divisible by 4,
(7)

  (b)    =
(7)
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a f n 5 8h 3

when n i f c 5 t 8 c 1 3 16 4 4

e f n divisibleby 4 when n I

Assume f u divisible by 4 when n K

f K 5kt 8kt 4h
where h is an integer
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divisible by 4
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induction C n is divisibleby 4 for n E It
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8. (a) Prove by induction that, for any positive integer n,
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9. (a) Prove by induction that
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9. A sequence of numbers u1, u2 , u3, u4 , ... is defined by

un+ =1 u un + =14 2 2,

 Prove by induction that, for n +∈! ,

un
n= −( )2

3
4 1

(5)
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9. Prove by induction, that for 
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 (b) 2 1f ( ) 7 5nn −= +  is divisible by 12.
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6. (a) Prove by induction
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(b) Using the result in part (a), show that
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10. Prove by induction that, for n∈ +! ,

f  ( n ) = 2 2 n – 1  + 32 n – 1  is divisible by 5.
 (6)
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